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A¯]l…™èlç³#Æý‡… l º$«§ýlÐéÆý‡… l 

þOÌñæ l 3 l 2019Ñ§ýlÅ

Ð]l*¨-Ç {ç³Ô¶æ²-Ë$
1. Æð‡…yýl$ çÜ…QÅ-Ë Ð]l$«§ýlÅ °çÙµ-†¢ 5:7, -Ðé-sìæ -

MýS.Ýë.-VýS$. 350 AÆ‡¬™ól B Æð‡…yìl…sìæ-ÌZ MýS°-çÙt
çÜ…QÅ?
G) 50 ¼) 60 íÜ) 70 yìl) 75

f. Æð‡…yýl$ çÜ…QÅ-Ë-̄ ]l$ 5K, 7K A-¯]l$-MýS$…sôæ..
(K - H-O§ðl¯é JMýS è̂lÆý‡-Æ>-Õ-).
5K, 7K Ë MýS.Ýë.-VýS$. = 5×7×K = 35K.
M>± §ýl™é¢…Ô¶æ… {ç³M>--Æý‡…..
35K = 350
⇒ -MýS-°-çÙt çÜ…QÅ = 5K = 5 × 10 = 50
∴ çÜÐ]l*-«§é-¯]l…: G

2. Æð‡…yýl$ çÜ…QÅ-Ë MýS.Ýë.-VýS$., -Ðé-sìæ VýS.Ýë.-¿ê-MýS$
28 Æð‡r$Ï. Ðésìæ MýS.Ýë.-VýS$., VýS.Ýë.-¿ê.-Ë
Ððl¬™èl¢… 1740. Ðésìæ-ÌZ Ððl¬§ýl-sìæ-¨ 240
AÆ‡¬™ól Æð‡…yø¨ G…™èl?
G) 390   ¼) 400
íÜ) 410 yìl) 420

f. Æð‡…yýl$ çÜ…QÅ-Ë VýS.Ýë.-¿ê. = x A¯]l$-MýS$…sôæ..
MýS.Ýë.-VýS$. = 28x AÐ]l#-™èl$…¨. 
§ýl-™é¢…Ô¶æ… {ç³M>-Æý‡…..
28x + x = 1740
⇒ 29x = 1740 
A…sôæ VýS.Ýë.-¿ê. = x = 60,
MýS.Ýë.-VýS$. = 28 × 60 = 1680
Cç³š-yýl$ 240 × Æð‡…yø çÜ…QÅ
= 1680 × 60
⇒ Æð‡…yø çÜ…QÅ = 
∴ çÜÐ]l*-«§é-¯]l…: yìl

3. 24, 8, 10 Ë™ø ¿êW-™èl-Ð]l$-Äôæ$Å MýS°-çÙt
çÜ…QÅ? 
G) 12 ¼) 240   íÜ) 120 yìl) 48

f. 24, 8, 10 Ë-™ø ¿êW™èl-Ð]l$-Äôæ$Å MýS°-çÙt çÜ…QÅ
A…sôæ Ðésìæ MýS.Ýë.-VýS$. A° AÆý‡¦….
24 = 2 × 2 × 2 × 3,
8 = 2 × 2 × 2, 10 = 2 × 5

⇒ MýS.Ýë.-VýS$. = 2×2×2×3×5=120
∴ çÜÐ]l*-«§é-¯]l…: íÜ

4. Ð]lÊ-yýl$ VýS…r-Ë$ 12, 15, 18 °Ñ$-Úë-Ë-MýS$
JMýS-Ýë-Ç Ððl*-VýS$-™é-Æ‡¬. AÑ Ð]lÊyýl* JMóS-ÝëÇ
8 am MìS Ððl*W-™ól, Ð]l$-äÏ B Ð]lÊ-yýl$ MýSÍ-íÜ Gç³š-
yýl$ Ððl*VýS$-™é-Æ‡¬?
G) 9 am ¼) 10 am
íÜ) 11 am yìl) 12 pm

f. 12, 15, 18Ë MýS.Ýë.-VýS$. = 180 °Ñ$-Úë-Ë$.
A…sôæ AÑ Ð]lÊyýl*- MýS-Í-íÜ -J-MýS-Ýë-Ç Ððl*W-̄ ]l
™èlÆ>Ó-™èl Ð]l$äÏ Ððl…r-̄ ól MýSÍ-íÜ Ððl*VýS-yé-°-MìS ç³sôæt
çÜÐ]l$-Ä¶æ$… = 180 °Ñ$-Úë-Ë$
= 3 VýS…r-Ë$
∴ çÜÐ]l*-«§é-̄ ]l… = 8 am + 3 VýS…r-Ë$
= 11 am ∴ çÜÐ]l*-«§é-¯]l…: íÜ

5. Ð]lÊyýl…MðS-Ë çÜ…QÅ-Ë$ Æð‡…yìl…sìæ VýS.Ýë.-¿ê.
29, MýS.Ýë.-VýS$. 4147 AÆ‡¬™ól B Æð‡…yìl…sìæ
Ððl¬™èl¢…?
G) 576   ¼) 669   íÜ) 696 yìl) 741

f. Æð‡…yýl$ çÜ…QÅ-Ë VýS.Ýë.-¿ê. 29 M>º-sìæt, B
Æð‡…yýl$ çÜ…QÅ-Ë-̄ ]l$ 29x, 29y A¯]l$-MýS$…sôæ..
(x, y Ë$ ^èlÆý‡-Æ>-Ô¶æ$-Ë$-)
Cç³š-yýl$ Æð‡…yýl$ çÜ…QÅ-Ë Ë-º®… =
MýS.Ýë.-VýS$. × VýS.Ýë.-¿ê.
⇒ 29x × 29y = 4147 × 29

A…-sôæ x = 11, y = 13
⇒ Æð‡…yýl$ çÜ…QÅ-Ë -Ððl¬-™èl¢…
= 29x + 29y
= 29 (11 + 13) = 29 × 24 = 696
∴ çÜÐ]l*-«§é-¯]l…: íÜ

6. 12, 15, 20, 25 Ë™ø ¿êW…_-¯]l-ç³š-yýl$ ÔóæçÙ…
"7'¯]l$ C^óla MýS°-çÙt çÜ…QÅ?
G) 300  ¼) 293   íÜ) 307 yìl) 600

f. Ððl¬§ýl-r 12, 15, 20, 25 Ë™ø °ÔóæØ-çÙ…V>
¿ê-W-™èl-Ð]l$-Äôæ$Å MýS°--çÙt çÜ…QÅ =

Ðésìæ MýS.Ýë.-VýS$. = 300
M>º-sìæt 7° ÔóæçÙ…V> C ó̂la MýS°-çÙt çÜ…QÅ =
300 + 7 = 307 ∴ çÜÐ]l*-«§é-¯]l…: íÜ

7. H MýS°-çÙt çÜ…QÅ-MýS$ 5° MýSÍ-í³-™ól A¨ 4, 5, 6,
7Ë™ø °ÔóæØ-çÙ…V> ¿êW-™èl-Ð]l$-Ð]l#-™èl$…¨?
G) 415   ¼) 425   íÜ) 420 yìl) 845

f. Ððl¬§ýl-r 4, 5, 6, 7Ë™ø °ÔóæØ-çÙ…V> ¿êW™èl-
Ð]l$-Äôæ$Å MýS°-çÙt çÜ…QÅ =
Ðésìæ MýS.Ýë.-VýS$. = 4×5×3×7=420
∴ çÜÐ]l*-«§é-̄ ]l… = 420 – 5 = 415
∴ çÜÐ]l*-«§é-¯]l…: G

8. 132, 77 Ë¯]l$ ¿êW…_¯]l-ç³š-yýl$ 2¯]l$ ÔóæçÙ…V>
C^óla VýSÇçÙt çÜ…QÅ?
G) 5 ¼) 11 -íÜ-) 22 yìl) 25

f. 132–2 = 130, 77–2 = 75.
A…sôæ Ð]l$ ]̄l… 130, 75Ë VýS.Ýë.-¿ê. MýS-̄ ]l$-MøP-
Ðé-Í. 130, 75 Ë VýSÝë¿ê = 5
∴ çÜÐ]l*-«§é-¯]l…: G

9. ¯é-Ë$-VýS$ {ç³«§é-¯]l çÜ…QÅ-Ë$ BÆø-çßæ×æ
{MýSÐ]l$…ÌZ E-¯é²-Æ‡¬. Ððl¬§ýl-sìæ Ð]lÊyýl$ çÜ…QÅ-
Ë Ë-º®… 385. _Ð]l-Ç Ð]lÊyýl$ çÜ…QÅ-Ë Ëº®…
1001. AÆ‡¬™ól B ¯éÍY-…sìæ-ÌZ VýSÇ-çÙt çÜ…QÅ?
G) 7 ¼) 11 íÜ) 13 yìl) 17

f. BÆø-çßæ-×æ {MýSÐ]l$…ÌZ E ]̄l² -̄ é-Ë$-VýS$ {ç³«§é-̄ ]l

çÜ…QÅ-Ë-̄ ]l$ Ð]lÆý‡$-çÜ-V> a, b, c, d
A¯]l$MýS$…sôæ..
A-ç³š-yýl$ §ýl™é¢…Ô¶æ… {ç³-M>-Æý‡…..
a × b × c = 385, b× c×d=1001.
D Æð‡…yìl…sìæ VýS-Ýë-¿ê = b × c
= 385, 1001 Ë VýS.Ýë.-¿ê. = 77. 
-̄ é-ÍY…sìæ-ÌZ VýSÇ-çÙt çÜ…QÅ =

∴ çÜÐ]l*-«§é-¯]l…: íÜ
10. JMýS --©-Æý‡ƒ-^èl-™èl$-Æý‡-{Ýë-M>-Æý‡ ´÷Ë… -^èl$-r$t-Mö-Ë-™èl 80

Ò$. §é° -´÷-yýl-Ð]l#, Ððlyýl-Ë$µ-Ë Ð]l$«§ýlÅ ¿ôæ§ýl… 10
Ò$. AÆ‡¬™ól §é° OÐðlÔ>-ËÅ… G…™èl?
G) 375 Ò$2 ¼) 750 Ò$2
íÜ) 537 Ò$2 yìl) 357 Ò$2

f. ©--Æý‡ƒ-̂ èl-™èl$--Æý‡-{çÜ ^èl$r$t-Mö-Ë-™èl =
2(l+b) = 80
§ýl™é¢…Ô¶æ… ¯]l$…_...
⇒ l + b = 40
⇒ l – b = 10
––––––––––
⇒ 2l = 50 ⇒ l = 25, b = 15
-M>-º-sìæt ©Æý‡ƒ-̂ èl-™èl$-Æý‡-{çÜ OÐðlÔ>-ËÅ… =
lb = 25 × 15
= 375 Ò$2
∴ çÜÐ]l*-«§é-¯]l…: G

11. ¿¶æ$gê-Ë$ 2:3 °çÙµ-†¢-ÌZ E¯]l²  ©Æý‡ƒ-^èl-™èl$-Æý‡-{çÜ
OÐðlÔ>-ËÅ… 150 òÜ….Ò$2. -I-™ól §é° ^èl$r$t-Mö-
Ë-™èl?
G-) 25 òÜ….Ò$. -¼-) 35 òÜ….Ò$.
íÜ) 40 òÜ….Ò$. -yìl) 50 òÜ….Ò$.

f. §ýl™é¢…Ô¶æ… {ç³M>-Æý‡… ©Æý‡ƒ-̂ èl-™èl$Æý‡{çÜ Ððlyýl-Ë$µ
= 2k,
´÷yýl-Ð]l# = 3k A--¯]l$-MýS$…--sôæ..
(k-H-O§ðl-̄ ]l JMýS è̂lÆý‡-Æ>-Õ-)
A-ç³š-yýl$ OÐðlÔ>-ËÅ… = 3k × 2k = 150

⇒ k = 5
∴ ´÷yýl-Ð]l# = 3×5 = 15 òÜ….Ò$.,
Ððl-yýl-Ë$µ = 2×5 = 10 òÜ….-Ò$.
⇒ è̂l$r$t-Mö-Ë-™èl = 2×(15 + 10)
= 50 òÜ….Ò$. ∴ çÜÐ]l*-«§é-¯]l…: yìl

12. JMýS çÜÐ]l$-¨Ó-»ê-çßæ$ Ë…º-Mø-×æ -{†-¿¶æ$-f… MýSÆý‡~…
´÷yýl-Ð]l# 8√2 -òÜ….-Ò$. AÆ‡¬™ól §é° OÐðlÔ>-ËÅ…
G…™èl?
G) 8 òÜ….Ò$2 -¼-) 16 òÜ….Ò$2
íÜ) 32 òÜ….Ò$2 -yìl-) 64 òÜ….Ò$2

f. çÜÐ]l$-¨Ó--»ê-çßæ$ Ë…º-Mø-
×æ {†¿¶æ$-f… ç³MýSP ç³-
r…Ìê  E…-r$…¨.
AB = AC = a 
A-¯]l$-MýS$…sôæ..
Aç³š-yýl$ Oò³£é-VýS-Æý‡‹Ü íÜ§é®…™èl… {ç³M>-Æý‡…...
BC2 = AB2 + AC2 = a2 + a2

⇒ BC2 = 2a2 ⇒ BC = √2a
A…sôæ MýSÆý‡~… = √2a = 8√2 ⇒ a
= 8 òÜ….Ò$. {†-¿¶æ$-f OÐðlÔ>-ËÅ… = 
1/2 × ¿¶æ*Ñ$ × G™èl$¢ =1/2×AB×AC
= 1/2 × 8 × 8 = 32 òÜ….Ò$.2
∴ çÜÐ]l*-«§é-¯]l…: íÜ

13. JMýS {-†-¿¶æ$-f…ÌZ-° Ð]lÊyýl$ Mø×ê-Ë$ 3:4:5
°çÙµ-†¢-ÌZ E¯é²-Æ‡¬. AÆ‡¬™ól B {†¿¶æ$-f…ÌZ-
° MýS°-çÙt Mø×æ-…?
G) 15°  ¼) 30° íÜ) 45° yìl) 60°

f. §ýl™é¢…Ô¶æ… {ç³M>-Æý‡….. {†¿¶æ$-f…ÌZ-°- Ð]lÊyýl$
Mø×ê-Ë-̄ ]l$ 3k, 4k, 5k A¯]l$-MýS$…sôæ..
3k + 4k + 5k = 180°

MýS°-çÙt Mø×æ… = 3 × 15° = 45°
∴ çÜÐ]l*-«§é-¯]l…: íÜ
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Model Questions
Directions (Q. No. 1-5): What

will come in place of question mark
(?) in the following questions?
1. (8792 – 4136) ÷ ? = 145.5

a) 38 b) 32 c) 42 d) 36
e) None of these

2. 6561 ÷ (10.8×2.5) ÷ 3 = ?
a) 27 b) 54 c) 72 d) 81
e) None of these

3. 7365 + (5.4)2 + √(?) = 7437.16
a) 1894 b) 1681
c) 1764 d) 2025
e) None of these

4. 40% of ? × = 78

a) 650 b) 720 c) 680
d) 620 e) None of these

5. 125% of 3060 – 85% of ? = 408
a) 3890 b) 3940 c) 4020
d) 4015 e) None of these
Directions (Q. No. 6-10): What

should come in place of question mark
(?) in the following number series?
6. 9, 19, 40, 83, ?, 345, 696

a) 162 b) 170 c) 175
d) 166 e) None of these

7. 980, 484, 236, 112, 50, ?, 3.5
a) 25 b) 17 c) 21

d) 29 e) None of these
8. 8, 9, 20, 63, 256, 1285, ?

a) 6430 b) 7450 c) 7716
d) 7746 e) None of these

9. 1015, 508, 255, 129, 66.5, ?,
20.875
a) 34.50 b) 35 c) 35.30
d) 35.75 e) None of these

10. 12, 12, 18, 36, 90, 270, ?
a) 945 b) 810 c) 1080
d) 1215 e) None of these

11. Seema, Meena, Reena start jogg-
ing around a circular stadium and
complete one round in 54s, 42s
and 63s respectively. Approxim-
ately, after how many minutes
they will meet again at the star-
ting point?
a) 8 min b) 10 min c) 3 min
d) 6 min e) 12 min

12. Deepa drives a bike at an average
speed of 30 kmph and reach her
destination in 6 h. Hema covers
that distance in 4 h. If Deepa in-
crease her average speed by 10
kmph and Hema increase her
speed by 5 kmph, then what will
be the difference in time taken by
them to reach their destination?
a) 54 min b) 1 h c) 40 min

d) 45 min e) None of these

Key& Explanations
1. (8792 – 4136) ÷ ? = 145.5

Ans: b
2. 6561 ÷ (10.8 × 2.5) ÷ 3 = ?

6561 ÷ 27 ÷ 3 = ?

Ans: d

3. 7365 + (5.4)2 + √(?) = 7437.16
7365 + 29.16 + √(?) = 7437.16
√(?) = 7437.16 – 7365 – 29.16
√(?) = 43 
? = (43)2 = 1849.

Ans: e

4.

Ans: a

5. 125% of 3060 − 85% of ? = 408

Ans: c

6. 9 × 2 + 1 = 18 + 1 = 19
19 × 2 + 2 = 38 + 2 = 40
40 × 2 + 3 = 80 + 3 = 83
83 × 2 + 4 = 166 + 4 = 
170 × 2 + 5 = 340 + 5 = 345
345 × 2 + 6 = 690 + 6 = 696.

Ans: b
7. 980 ÷ 2 – 6 = 484

484 ÷ 2 – 6 = 236
236 ÷ 2 – 6 = 112
112 ÷ 2 – 6 = 50
50 ÷ 2 – 6 = 
19 ÷ 2 – 6 = 3.5 Ans: e

8. 8 × 1 + 1 = 8 + 1 = 9
9 × 2 + 2 = 18 + 2 = 20
20 × 3 + 3 = 60 + 3 = 63
63 × 4 + 4 = 252 + 4 = 256
256 × 5 + 5 = 1280 + 5 = 1285
1285 × 6 + 6 = 7710 + 6 = 

Ans: c
9. 1015 ÷ 2 + 0.5 = 507.5 + 0.5 

= 508
508 ÷ 2 + 1 = 254 + 1 = 255
255 ÷ 2 + 1.5 = 127.5 +1.5 = 129
129 ÷ 2 + 2 = 64.5 + 2 = 66.5
66.5 ÷ 2 + 2.5 = 
35.75 ÷ 2 + 3 = 20.875 Ans: d

10. 12 × 1 = 12  ⇒  12 × 1.5 = 18
18 × 2 = 36  ⇒ 36 × 2.5 = 90
90 × 3 = 270
270 × 3.5 = Ans: a

11. LCM of 54, 42, 63 = 378

Ans: d
12. Distance = 30 × 6 = 180 km

Speed of Hema 

Speed of Deepa after increasing
average speed

= 4 h 30 min

Speed of Hema after increasing
average speed 

= 3 h 36 min

Difference = 4 h 30 min – 3 h 36
min = 54 min. Ans: a
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+
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